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It was taught; also the hands, etc. — 991 29777 AN RIN

Overview
The X713 cited a Xn»72 which stated that hands which touched a scroll of Scripture are
72170 909, on account of T30 .

mooIN asks:
= YYINT 229 929 NNIAN NNV 99D ('a nawn /) pr9 0r1) ‘nm NN 99NN ON)

And if you will say; this which the 1w» taught, ‘the hand is X»w» the other hand, this

is the view of ¥''9 -
=910 WP 52N 19981 ©NY 9N 119 19 1IN

The °n0n1 said to °", ete. "W 7WW "W PR, so *"1 said to them we found that w7I» san3,

etc. are 01w and are Xnvn the 0°7°, so we see that "W W "W -
- QY 129 029910 92919 XD 79I 293291 09990 9927 1237 PPN 17 191N

The o°non said to °"7 we cannot derive rabbinic law, not from 7910 law and not from

other Rabbinic law’; [m501n encourages us] delve into it there. This concludes the citation
from the 71wn there; Moo asks -
= 29NY GN D7 MNNVNY VY JAY YWNP 22NN NINI INNI Y250 RNYM

But now how can >"1 bring proof from the case of w72 an> which are a "2 and are

257> X»wun even for ;372390; how can that be proof -
- 2w10Y 99 ANYPAN NPVN NYT Y

To the ruling of "1 of one hand which can only be 8»u» the other only for w712, but not
for 1n?!

m>dOIN answers:
- 53w nuy v PNT IIMINY ONI2D JY 2SUNY P9 WYIN IINT 99D Y

And one can say; that >"2 was not concerned to totally explain his ruling, but merely
to respond to their reasoning that 12 72w s12 PX.

moon offers a different approach:*
- 5\’)‘!1‘,73 NPT 1D WP 2aNdT NONNT WH9D NN M)

" See previous Xin 7"7 '01n TIE footnote # 5 for a complete reading of the mwn.

2 w7p is ‘holier’ than N and therefore more susceptible to axm, for a "w*>w cannot A»1IN 201 but it is WP Y0M.
How can we prove from w7 an> which has a strong nxnw for it can be 2>7° Xhvn even for 17N (which is less
susceptible to XMW than wTP), regarding a 7 which is a weaker nxnw for it cannot be ;7in72n Xnwn for 717N, only for
w7pi. How can we derive that even by a weaker n¥mv the rule should be “1w 7w "w from a stricter 7Xmw where 1w
1w 7. See previous Xin 1"7 'own where he proves that the rule of Xaun 7 is only w2 [TIE Footnote # 5]. See
‘Thinking it over’.

? The oo seemed to be saying categorically that *3w 7wy 1w PX under all circumstances; to which *" replied that
it is not necessarily so; we do find "1w 7w "1, albeit under other circumstances.

* This is (seemingly) in disagreement with the previous xan 11"7 'on TIE footnote # 2.

> Therefore it is a proper proof that in72m NX 7xPLA T since they are both nMxmw which affect only wnp.
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And additionally it is preferable to explain that the 71wn of w7 san> where it states
that the w7 °an> are 0°7°71 DX 1X1¥YA that is only for WP, but not for 7N —

Moo responds to an anticipated difficulty:®
= 4399 %297 990 NNNN NMININ D117 XINT NN 13991 INDY

And that 73wn of wTP7 °an2 is not the 579 here of 7192 ' that 950 n»nn NIR2T 2970 are
71N 0. That m1wn which is 5019 only for w77 was taught before the 717°13 of 5".

mooIn responds to an anticipated difficulty:
- 5531 %W 99X H2INA 13299 909 1Y 991 “AUPNRY A

And the reason it is [not] asked, ‘but do not the 3121 maintain that 12 Y28 »27 is a

%12’ (but how can they maintain that) -
= ©99Y0 Y9219 XYY NN 192919 DIND 937 1237 PNRT 9]”9

Since they maintain that we cannot derive 2°9910 5927 not from 790 927 and not
from 239270 9927 -

m»ooIn replies:
= %YW AYIY MY 19399 11D PN RNYO RIINT NI NI

It appears that wherever there is sufficient reason, the 3139 agree that 12 7w 2w -
= 9 YOIN YIINDY 7999 2297 DIVN 990 HNNNN HINAN NI

Like the 7913 of 950 nnnn 1827 7 on account of 7399 '3 (which is a sufficient reason),

and also the 777712 of 51w 9218 Y9857 where there is also sufficient reason -
(@9 Mmovin) NMNAY NNMIINT PPYN ATYI OINNDY ]"JbﬁN 59987 1231297 NI V9919710

As the X3 explained here, that occasionally he may eat 2°8»v 3228 and put Ppw»

o207 in his mouth. However in the case of 1inan X»avn 7° there is no sufficient reason, therefore
they disagree with >"9. (This is a "> M2OIN.)

Summary
The mawn of 71 IR PRAVA WTPA *2ND can either mean 721707 or only for wpn. The 7327

agree that *1w 7wy 1w where there is sufficient reason like by 1w "1 931% 93117

Thinking it over
Seemingly just as by 7270 we say 1w AwWw 1w the same (and perhaps even more so)

should apply to wnp;'® what is 19010 question?!

® How can we say that the m1wn of 2717 NX PRMPYA WP *2N2 means only for WP but not for 717N, when our Xn>°12
of 7119 " states clearly that 190 nann MR 2°7° are 71IN7 DR N2019?!

" The 0"wamn M amends this to read mwpn X2w 7 (instead of Awpnw 7m).

¥ Presumably the Dnon agree that *1 93X 927 is a "I (since it is one of the 727 ™).

? When > stated that 770720 Xnun 7 the 00n replied *1w 7w *3w PX and when "3 brought proof from w7 *an3
077 DR PRAYY, the 0omon responded, 131 1°17 1K, so how come they agree that *w *1w 92K 2287 since they maintain
I VW I PR,

10 See footnote # 2.
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